## Non-Vehicular Source Fees Fiscal Year 2022-2023 Facilities

			2020	4	
Facility		_		\$ Per Ton	_
ID	District	Feepayer	(Tons) ^	Fee *	Fee
	Bay Area AQMD	Chevron Products Company	1,911		\$794,345.37
	Bay Area AQMD	Valero Refining Company - California	1,123		\$466,797.41
	Bay Area AQMD	Tesoro Refining & Marketing Company LLC	292	\$415.67	\$121,375.64
21359	Bay Area AQMD	Phillips 66 Company - San Francisco Refinery	363	\$415.67	\$150,888.21
21360	Bay Area AQMD	Phillips 66 Carbon Plant	1,200	\$415.67	\$498,804.00
22789	Bay Area AQMD	Eco Services Operations Corp.	358	\$415.67	\$148,809.86
24726	Bay Area AQMD	Martinez Refining Company LLC	2,875	\$415.67	\$1,195,051.25
9	Eastern Kern APCD	Calportland Company	2,269	\$415.67	\$943,155.23
20	Eastern Kern APCD	Lehigh Southwest Cement Tehachapi Facility	988	\$415.67	\$410,681.96
21	Eastern Kern APCD	National Cement Co.	1,380	\$415.67	\$573,624.60
1	Mojave Desert AQMD	Mitsubishi/Cushenbury Plant	2,461	\$415.67	\$1,022,963.87
2	Mojave Desert AQMD	Searles Valley Minerals	1,358	\$415.67	\$564,479.86
3	Mojave Desert AQMD	Calportland Oro Grande	2,337	\$415.67	\$971,420.79
5	Mojave Desert AQMD	Cemex - Black Mountain Quarry Plant	2,785	\$415.67	\$1,157,640.95
39	Mojave Desert AQMD	PG&E - Topock Compressor Station	258	\$415.67	\$107,242.86
1437	Mojave Desert AQMD	SCG - Blythe	422	\$415.67	\$175,412.74
44577	South Coast AQMD	Long Beach City, SERRF Project	263	\$415.67	\$109,321.21
171107	South Coast AQMD	Phillips 66 Co./La Refinery Wilmington PL	423	\$415.67	\$175,828.41
174655	South Coast AQMD	Tesoro Refining & Marketing Co., LLC	1,675	\$415.67	\$696,247.25
181667	South Coast AQMD	Torrance Refining Company LLC	1,310	\$415.67	\$544,527.70
800026	South Coast AQMD	Ultramar Inc.	294	\$415.67	\$122,206.98
800030	South Coast AQMD	Chevron Products Co.	1,042	\$415.67	\$433,128.14
800436	South Coast AQMD	Tesoro Refining and Marketing Co., LLC	439	\$415.67	\$182,479.13
174591	South Coast AQMD	Tesoro Refining & Marketing Co., LLC, Calciner	252	\$415.67	\$104,748.84
2	Shasta County AQMD	Lehigh Southwest Cement Company	646	\$415.67	\$268,522.82
43	Shasta County AQMD	Shasta - Sustainable Resource Management, Inc.	360	\$415.67	\$149,641.20

			2020		
Facility			Emissions	\$ Per Ton	
ID	District	Feepayer	(Tons) ^	Fee *	Fee
1662	San Joaquin Valley Unified APCD	Gallo Glass Company	284	\$415.67	\$118,050.28
2073	San Joaquin Valley Unified APCD	Covanta Stanislaus, Inc.	279	\$415.67	\$115,971.93

Totals 29,647 \$12,323,368.49

^ South Coast AQMD Facilites' emissions are FY 2020-2021 emissions as reported for and required by regulation.

## Legend

AQMD: Air Quality Management District

APCD: Air Polution Control District

<sup>\*\$415.67 = \$213.25</sup> Base Fee + \$202.42 Supplemental Fee

## Non-Vehicular Source Fees Fiscal Year 2022-2023 Consumer Products

	2020 VOC		
	<b>Emissions</b>	\$ Per	
Company Name	(Tons)	Ton Fee	Fee
3M	1,176	\$213.25	\$250,782.00
Albertsons Companies	971	\$213.25	\$207,065.75
ALEN USA	330	\$213.25	\$70,372.50
Bath and Body Works	1,585	\$213.25	\$338,001.25
Celeste Industries Corporation	3	\$213.25	\$639.75
Church and Dwight Co., Incorporated	382	\$213.25	\$81,461.50
Conagra Brands	421	\$213.25	\$89,778.25
Costco Wholesale Corporation	270	\$213.25	\$57,577.50
Coty Inc.	1,028	\$213.25	\$219,221.00
CRC Industries, Incorporated	361	\$213.25	\$76,983.25
CVS Health	762	\$213.25	\$162,496.50
DAP Products, Incorporated	97	\$213.25	\$20,685.25
Diversey, Inc.	267	\$213.25	\$56,937.75
Dollar Tree Stores, Inc.	480	\$213.25	\$102,360.00
Ecolab, Incorporated	1,188	\$213.25	\$253,341.00
Edgewell Personal Care Brands, LLC (formerly Energiz	351	\$213.25	\$74,850.75
GOJO Industries, Incorporated	2,011	\$213.25	\$428,845.75
Henkel Corporation (for Henkel of America)	909	\$213.25	\$193,844.25
Illinois Tool Works, Incorporated, Fluids NA	10	\$213.25	\$2,132.50
ITW Evercoat	60	\$213.25	\$12,795.00
ITW Evercoat, Auto Magic	24	\$213.25	\$5,118.00
ITW Global Brands	141	\$213.25	\$30,068.25
ITW Global Tire Repair	73	\$213.25	\$15,567.25
ITW Polymers Sealants NA	7	\$213.25	\$1,492.75
ITW Pro Brands	11	\$213.25	\$2,345.75
ITW Pro Brands (formerly LPS Laboratories)	30	\$213.25	\$6,397.50

	2020 VOC		
	<b>Emissions</b>	\$ Per	
Company Name	(Tons)	Ton Fee	Fee
ITW Professional Automotive Products	1	\$213.25	\$213.25
Johnson and Johnson	678	\$213.25	\$144,583.50
Legend Brands	7	\$213.25	\$1,492.75
L'Oreal USA	826	\$213.25	\$176,144.50
Nice-Pak Products, Inc.	4	\$213.25	\$853.00
Parfums de Coeur	448	\$213.25	\$95,536.00
Paslode, a division of Illinois Tool Works Inc.	6	\$213.25	\$1,279.50
PERMATEX	45	\$213.25	\$9,596.25
PLZ Aeroscience Corporation	325	\$213.25	\$69,306.25
Primorance, Incorporated	1	\$213.25	\$213.25
Professional Disposables International, Inc.	334	\$213.25	\$71,225.50
Reckitt Benckiser LLC	3,425	\$213.25	\$730,381.25
RPM Wood Finishes Group, Incorporated	148	\$213.25	\$31,561.00
Rust-Oleum Corporation	2,553	\$213.25	\$544,427.25
Sanford, L.P.	387	\$213.25	\$82,527.75
SC Johnson	2,326	\$213.25	\$496,019.50
Spectrum Brands Holdings	29	\$213.25	\$6,184.25
Target Corporation	1,120	\$213.25	\$238,840.00
The Clorox Company	1,440	\$213.25	\$307,080.00
The Coleman Company, Inc.	10	\$213.25	\$2,132.50
The Procter & Gamble Distributing Company LLC	2,967	\$213.25	\$632,712.75
The Sherwin-Williams Company	1,275	\$213.25	\$271,893.75
The Wella Company (OPI Products Inc.)	128	\$213.25	\$27,296.00
Unilever	3,132	\$213.25	\$667,899.00
United Industries Corporation	538	\$213.25	\$114,728.50
US Chemical	5	\$213.25	\$1,066.25
Vi-Jon, LLC	1,289	\$213.25	\$274,879.25
VS & Co.	1,137	\$213.25	\$242,465.25
Wal-Mart Stores, Incorporated	1,312	\$213.25	\$279,784.00

	2020 VOC Emissions	\$ Per	
Company Name	(Tons)	Ton Fee	Fee
WD-40 Company	508	\$213.25	\$108,331.00
Willert Home Products	253	\$213.25	\$53,952.25
WM Barr	971	\$213.25	\$207,065.75
ZEP, Incorporated	427	\$213.25	\$91,057.75

Total 41,003 \$8,743,889.75

## Non-Vehicular Source Fees Fiscal Year 2022-2023 Architectural Coatings

	2020 VOC		
	<b>Emissions</b>	\$ Per Ton	
Fee Payer	(Tons)	Fee	Fee
Ace Hardware Corporation	340	\$213.25	\$72,505.00
Behr Process Corporation	682	\$213.25	\$145,436.50
Benjamin Moore & Company	277	\$213.25	\$59,070.25
Dunn-Edwards Corporation	506	\$213.25	\$107,904.50
Kelly-Moore Paint Company Incorporated	350	\$213.25	\$74,637.50
PPG Architectural Finishes Incorporated	887	\$213.25	\$189,152.75
RPM Wood Finishes Group, Inc.*	1	\$213.25	\$213.25
Rust-Oleum Corporation	1,786	\$213.25	\$380,864.50
Sherwin-Williams Company	2,507	\$213.25	\$534,617.75
Stoncor Group Incorporated*	201	\$213.25	\$42,863.25
Tremco Incorporated*	111	\$213.25	\$23,670.75
W.R. Meadows Inc.	256	\$213.25	\$54,592.00
Total	7.004		¢1 405 520 00

Total 7,904 \$1,685,528.00